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(1) ZZ@htrtk (v) LTHLOFERBIZEY v =10 %
(2) Bl & 5REE (m)
@i 50 = L2l az = S ooy = 1250
L™ o 1= 100

m = a2 X SL = 1.250 X 27 = 33.8 N/mf

L o>T m 33.8 N/mr

(3)KkEAV FEE(W/C) m -18.2 + 27.7 X C/W

W/ C 27.7 + (33.8 + 18.2) X 100 = 53.0 % = [55% (_E[R{HE) ]

“W/C = 53.0 %
(4) BAL K& (W) WTHEDOFEREIC otw W = 173 kg/m
(5)HfrE A F&E(C) C =W + (W/C) X 100 = 173 = 53.0 X 100 = 326 kg/m
Cv= C —+ %TE =326 + 3.04 = 107 1/m
(6) 255 (A) A = 4.5 % X 1000 = 45 1/m

(7)MEMM=HE(s/a) MTHOERKICELY s/a = 46.1 %
(8)HfTHIEFME(S) Sv = (1000 — (WH+Cv+A)) X s/a = 675 X 46.1 % = 311 1/m
Slv = Sv X 70.0 % = 218 1/m S1= SIvXHEWEE = 218 X 2.56 = 558 kg/m
S2v = Sv — Sy = 03 1/m S2= S2yXKWBZEHE = 93 X 2.65 = 246 kg/m
(9) HALHE#M £ (G) Gv = 1000 — (W+Cv+Sv+A) = 1000 — 636 = 364 1/m
Glv = Gv X 50.0 % = 182 1/m Gl= GIvXEWEE = 182 X 2.73 = 497 kg/m
G2v = Gv — Glv = 182 1/m G2= G2yXFWEZEE = 182 X 2.73 = 497 kg/m
(10) A RFFI & (AdDAdL = C X B X EFE = 326 X 0.8000 % X 1.04 = 2.71 kg/m
Ad2 = 2.46 kg/m
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